//@version=4 
strategy(title="RSI of VWAP", overlay=true, pyramiding=1, default_qty_type=strategy.percent_of_equity, default_qty_value=20, initial_capital=10000, currency=currency.USD) //default_qty_value=10, default_qty_type=strategy.fixed, 

rsiLength=input(14,title="RSI Length", minval=1, maxval=50) 
buyLine=input(70,title="RSI Buy Line", minval=30, maxval=100) 
exitLine=input(90,title="RSI Exit Line", minval=0, maxval=100) 
riskCapital = input(title="Risk % of capital", defval=10, minval=1) 
stopLoss=input(5,title="Stop Loss",minval=1) 
partialExit=input(true,title="Allow Partial exit / take profits") 

myVwap=vwap 
vwapRsi=rsi(vwap,rsiLength) 
ema200=ema(close,200) 



plot(ema200, title="EMA 200", color=color.orange, transp=25) 
plot(myVwap, title="VWAP", color=color.purple, transp=25) 

//plot(close) 

//Entry-- 
//Echeck how many units can be purchased based on risk manage ment and stop loss 
qty1 = (strategy.equity * riskCapital / 100 ) / (close*stopLoss/100) 

//check if cash is sufficient to buy qty1 , if capital not available use the available capital only 
qty1:= (qty1 * close >= strategy.equity ) ? (strategy.equity / close) : qty1 


//more than 80% 
strategy.entry(id="LE", comment="Entry", long=true, qty=qty1, when=crossover(vwapRsi,buyLine) and close>ema200 ) 


//stoploss 
stopLossVal= strategy.position_size>=1 ? (strategy.position_avg_price * (1-(stopLoss*0.01) )) : 0.00 

//draw initil stop loss 
plot(strategy.position_size>=1 ? stopLossVal : na, color = color.purple , style=plot.style_linebr, linewidth = 2, title = "stop loss") 

bgcolor(strategy.position_size>=1?color.blue:na, transp=80) 



if(partialExit==true) 
strategy.close(id="LE",comment="TP points="+tostring(close - strategy.position_avg_price, "####.##"),qty=strategy.position_size/3, when=crossover(vwapRsi,99) ) //and close>ema200 

strategy.close_all(comment="Exit All points="+tostring(close - strategy.position_avg_price, "####.##"), when=crossunder(vwapRsi,exitLine) ) //and close>ema200 

//close all on stop loss 
strategy.close_all(comment="Exit points="+tostring(close - strategy.position_avg_price, "####.##"), when=close<stopLossVal ) //and close>ema200


1. strategy
Need to add in the code for short. When long exits short will open and close when the long signal opens. Stop-loss is also in play, choose manually in EA settings, from 1-5% 

In the EA settings need to be all the usual settings, like choosing instruments, sl, timeframes, risk, size lots % of account size etc.

